Warm Ur Juestions

#1 Calculate the following with the correct number of significant digits

a) 0.000034 x 4532.0001 x 2.000 =
b) 267.01 +279-100.0003 =

#2 Construct a Stem & Leaf and Box & Whisker for the following
numbers.

34, 30, 32, 46, 29, 30, 38, 39, 48, 17



#1 Calculate the following with the correct number of significant digits

a) 0.000034 x 4532.0001 x 2.000 = 0.30 O3
b) 267.01 +279 -100.0003 = 446.0097 = Y4 &



#2 Construct a Stem & Leaf and Box & Whisker for the following
numbers.

34, 30, 32, 46, 29, 30, 38, 39,48, 17 /@ — L/@
26, 30, 36, 37, 34,35, 39, 46, a8¢
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#2 Construct a Stem & Leaf and Box & Whisker for the following
numbers.

34, 30, 32, 46, 29, 30, 38, 39, 48, 17

s
17, 29 30(32,134)38, 3946, 48,

lower extreme: 1+
upper extreme: 2
median: 33

lower quartile: 30
upper quartile: 50' BOX

mean: 34.3
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